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1. FHEE 100 BRESEEM 3 FREHER - RERTHITRSHERS 5%, BEME—XK -
ZARATIRAEFIEEE 4.95%, FAPEN B~ - FITRETIERE 490%, S E—K - 350
FHTHREREFREARE (U AAZR/NEEE 2 f1):

(A)4.90%  (B)497%  (C)4.99%  (D)5.01%

ﬁz‘{i

(1.025)*=1.05086, (1.0125)*=1.0509
(1.02475)’=1.0501, (1.012375)*=1.0504
(1.0245)°=1.0496, (1.01225)*=1.0499

2. R B HREINEEE EAR BE—FK T » 3 ERIYLIEESDE?
(A) 1,157,625 (B) 1,157,956 (C) 1,157,294 (D) 1,158,377

3. RRAFTHATERKS50,000 » 5 3 L5 - E'ﬂi@%ﬁ 8% » SR RIS - 35
BIEEFERRIMTS 8
(A)19,402  (B)16,666  (C)18391 (D) 20,075

#x: :
EXEL 8%, ZEHMRELRMERTF A 2577 ZFRPMAFLEMAE T4 3.2464

4. & LR RS 2 FEAEERE - SEERNTIRREERERE S
(A)17,964 (B)16,666 (C)17,029 (D) 18,587

5. REBAEEBEEARHESEEEIRENE, 7 FEEEE RN T 205, HHE
ARG EIR A R AR - 7 R —R AR 2047=140 &, 7 ﬁ"”’@%@aﬁ%&“fﬁ@ :
1500 B - S35MERS B BTSR TERSRERIZRES 3% - FRRILU T §odiifbie 2 ERERY?

L R 7 SRS AERRE A2 EE « FTLUSEERRE A RA -

I AESETEREICRTEEFE - FiEERRENRARE 7 EMEPQ%E%WW% '
HIFIE -

I 7£ 3%HIFSET » 7 BIERESKER T 7.6625 » RILERFETFASSNEENEN
BREGR 173 BT -

IV, 72 3%MF[ETT » 7 HiRHARE SR ER TR 7.6625 Eﬂ]ﬁtdﬁ{%ﬁﬁiﬂﬁﬁ%ﬁﬂﬁﬁ%%%
B {REATR 2.26 &G -

(A) ETIETE (B) {£ N IEHE (C) £ 11, III IFFE (D) B, IV IEHE
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IV. FBATE SRR ETERER -

(A) BLUTFHE @ EBLILIVIEE (O ELILIVIEHE OFrERolEiERE

7. FHRILAT G TApLE R TE R

I HENIRES AT RS, ERBTAREFIRERARA -

I FEEAGARRZ T, ERESER IR ENERES -

1. Al B R RSN SR AT O SRR B R Al DU RS B T A B ER,
PRl SEF = EEE A R AR RN E T RE BRI A R R -

Iv. HAFSTRERSR, EHEREER IS ERRERRT UG ERE SR -

(A) EI1IERE ®B) ELOERE  (C) # LI INIEH (D) & LI, IV IERE

8. EFIFE TR, DITW—REESNEBE LRRS?
(A) 20 FAREH, TEFIR=A%NTELHE

(B) 20 SR BIH, FHIFIE=5%, FEF|EE=4%HAH
(C) 15 FEAREH, FHEAERR 5%, FEFR=4%HLE
(D) 15 FFREIH, REAEE S%HIREREAST

9. FE/EH 5 BT (Bias) & 5 HRSHRFE RS) HISCTIRLER EHEN

I AR 5 K Lk » B Bias>5% o

1L /A FIRYELEH 5 K FB » Bl RSI=0 -

I, # RSI<20 B, Bias A FR<-5% °

IV. —f3cER RSI>80 ESETHHEAGE, Bias<-5%EE AT «

(A) ELIVIERE ®) #ILIVIERE (C) &I IV Fi (D) {& LIL IV IFRE
875 BHHRBEE =5 ABE ERT4/5 B dEE s F5*100,

58 fEEE =(EAKHRE-5 8- FHBE)S B 5 REF100%

10. FEUBEREN T A R AR

L ERRAE LSRN R SRR

. AT TH R A BRI RER

1. AFEFRE 28R B ERRF DI

IV. EAERETESE B PR E e 2 AR

(a) EIV B ELINV OMEILIV O)ELNV

11, FEEE AR R 5 20%, TR EPS)-10, Hrh 4 TR (D=4, X
6 6 TEFAR RS, H AR RS AR B (ROE)=0.30 - SEEAR AR
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(dividend discount model, DDM) B2\ BIIRERA?
(A)50 (B)188 (C)200 (D)240 :

12. Z& 5E » SO TR B ErIR (H (present value of growth opportunity, PYGO)ES{a]?
(A)-150 (B)O (C)50 (D) 150

13. SRS T R S T L RS R T A

L T E, RS AN TR ,

1. 4K AR E R R SR ERMERRIERER O

TIL AT A - PO 2 AT LU F

IV. % N BT AR 22 5T A RIB T SR T

(A ELIV (B ELOLIV (O #ELLIV  O)LILILIVERES

14. BB B HUSRRNSRAEHE R 15 20%, 5=2; H3E C SRIHERE 1S 30%, f=1.2, R S L E24p R sRAY
FARMABLES 0.9 - SR T ERSUTI L 2 R

L I E W EBRIERRE C .

1. Y8 E FRisriSaR S NEE C

I 3578 1/2 RS E, OpREHR C AL THE S FRBIRi o2 25% -
IV. 5 12 NESRERE E, RTINS C, AIILREHEAH 6=1.6 -

(A BELI B)E LIV © ELILIV LI IV

15. Z& LRERVERGE - SAMERRIREL E RJEER C iTRIHARANEREES 20% » ERFIRE 5% >
GEEEINE 7% » T ERERI S E IERE?

I 3% E pyEELESE (Sharp ratio, or Sharp index) £50.75 -

11 B C RYEERAELEE (Treynor ratio, or Treynor index) £ 12.5 -

II1. %= E /Y Jensen’s alpha £ 1% o

V. $—{E BRI EE TR EEENREAZGR  [EEEREREC-

(A) &1 B) & 1,1 © & LI I O LILO, IV

16. R TRNEREETEEE (CAPM) HIRGIITLZIERER? :
L é@é’ﬁﬁ?ﬁﬁﬁ@HE@&%@E{%E’J%ﬁ’ﬁ@ﬁﬁ%&?ﬁ%ﬂ’]@%ﬁgﬁ@ﬂﬁ%ﬁ {HERR R A A Bl R
BRfERA -

I BHrEMERRENRMER, =2 AR EERN R M2 2 B
BRI 265 -

ML B EAIRER O, (HERFIRERALE -

IV. REAEZEERE 8 B/ N -

(A) I IERE (B) {# LI TR (C) 1 I, IIIERE (D) # 1 I, IV IEFE
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17. THEHOMRR T R ERO T - R8% CAPM X1z, SHEERBTFE RS
(A)2.5% (B)5% (C)7.5% (D)10%
HEA REB
E(R) 02 0.15
B 2 1

18. FHMMRISAAFEIEHVIEIAEER (trade-off theory) » DITMAITEAREL T A EI R 2R H?
I Wl (BFEEERIGZEER) 68

I BUSAREREESEE ] - AR HFEM

1. A FIRSE A B AR R E R

(A) f# IO B)# LD @©ELD OLIOII

19. AL TS EEAREERMEIRACER (pecking order theory) ATRERILAV{RAE?
L AEEEE SRR O -

I S{TARIREEN IR E S TR R THA -

L TR EANHNEFTENR AR R B -

IV. SMEREAT RIS B R A RNEERREE -

(A) ELD @ FELI ©)FELI OELV

20. H N EIFEEHHE R RSB BREF] 10 7T RAERFEESE - 2 HARMRR  #E
100 FRA TGS RIS ZEA B B AV BFIBGE  RArE A FRAGSE 12 7T BFER TITT
B AT EBEREERAR 5%  (FENTESEF]?

(A) 7EHAERRB R 21 SRAGE -

(B) FHAERBCATER 21 5RIEE -

(C) 7FRAEIRBZ AIEEA 21 IBE -

(D) FERERBZAIEREA 21 REE -

21. If a stock is purchased for $25 per share and held one year, during which time a $1.75 dividend is
paid and the price climbs to $26.75, the nominal rate of return is:
(A) 13.00%  (B)14.00% (C)20.00% (D) 27.00%

22. Which component is more likely to be biased if book values are used in the calculation of WACC
rather than market values?

(A) Debt (B) Preferred stock (C) Common stock (D) All categories should be equally biased. -

23. Which of the following statements is correct for an investor starting with $1,000 in common - °
stocks over a 20-year investment horizon in which stocks averaged 11% in nominal terms and 4% in ' -

real terms? The portfolio value is now approximately:
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Hint: (1.11)®=8.06231, (1.04)*=2.19112, (1.055) *=8.513309, (1.02) “*=2.20804
(A) $1,800 inreal terms.

(B) $3,679 in real terms.

(C) $3,870 in nominal terms.

(D) $8,062 in nominal terms.

24. Calculate the profit per share for an investor that exercises a put option with a strike price of $60

when the stock is selling for $46 and the premium for the put option was $4.
(A) ($14) (B) (310) (C)$10 (D)%18

25. Project A has a 10 percent cost of capital and the following cash flows:

Project A
Year Cash Flow
0 -$300
1 100
2 150
3 200
4 50

‘What is Project A’s discounted payback?
(A) 2.25 years (B)2.36years (C)243years (D)2.50 years (E)2.57 years

26. Assume that shares in A limited have a beta coefficient of 1.2. The market risk premium is 8%
and the risk-free rate is 5%. What is A limited’s cost of equity capital?
(A) 14.0% ®B) 14.5% (C) 14.6% (f)) cannot be calculated (E) 4.6%

27. WACC unadjusted is known as unadjusted because:
(A) it is not adjusted for implicit costs of debt and equity
(B) the discount rate is not the appropriate discount rate
(C) it is not adjusted for taxes

(D) the cash flows are post-tax cash flows

(E) bothAand C

28. Which of the following is correct concerning terms of trade credit of 4/10, EOM, net 90‘? Drpale
(A) The discount period expires on the last day of the month.

(B) The invoice becomes delinquent 90 days after the last day of the month.

(C) The discount period ends on the tenth day of the month following the invoice.

(D) The discount period ends either 10 days after invoicing or at the-end of the month, whichever is

earlier,

29. Adams Audio is considering whether to make an investment iri a new tyiie of teéhnoldgy. Which of
the following factors should the company consider when it decides whether to undertake the investment?-

{(\.
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(A) The company has already spent $3 million researching the technology.

(B) The new technology will affect the cash flows produced by its other operations.

(C) If the investment is not made, then the company will be able to sell one of its laboratories for $2
million,

(D) Statements b and ¢ should be considered.

(E) All of the statements above should be considered.

30. An inventory turnover of 3.5 times indicates that:
(A) we bought our inventory 3.5 times

(B) we sold our inventory 3.5 times

(C) we bought and sold our inventory 3.5 times

(D) we held 3.5 times our inventory

(E) bothAand D

31. One way to obtain a credit commitment from a customer before the goods are delivered is to
arrange a(n):

(A) sight draft

(B) commercial draft

(C) banker’s acceptance

(D) conditional draft

(E) open draft

32. Suppose that your firm has a cost of equity of 18% and a cost of debt of 8%, If the target D/E is
0.60 and the tax rate is 35%, what is the firm’s WACC?

(A)13.10% (B)13.12% (C)13.20% (D)1332% () 13.02%

33. Corporate charter provisions allowing existing shareholders to purchase stock at some fixed price
in the event of a hostile outside takeover attempt are called a:

(A) leveraged buyout

(B) poison pill

(C) share rights plan

(D) golden parachute

34. Which of the following statements is most correct?
(A) If a stock’s beta increased but its growth rate remained the same, then the new equilibrium price of the
stock will be higher (assuming dividends continue to grow at the constant growth rate).

(B) Market efficiency says that the actual realized returns on all stocks will be equal to the expected rates
of return.
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(C) An implication of the semistrong form of the efficient markets hypothesis is that you éannot
consistently benefit from trading on information reported in The Wall Street Journal.

(D) Statements a and b are correct.

(E) All of the statements above are correct.

35, The value of a firm is maximized when:

(A) the WACC remains the same

(B) the WACC increases

(C) the WACC is minimised

(D) WACC has no bearing on the value of the firm

(E) WACC is minimised but the discount rate increases

36. Daniel is expected to pay a $1.00 per-share dividend at the end of the year (D; = $1.00). - The stock
sells for $20 per share and its required rate of return is 11 percent. The dividend is expected to grow ata
constant rate, g, forever. What is the growth rate, g, for this stock?

(A) 5% (B) 6% ™% O 8% (E)%%

37. Which of the following statements is most correct?

(A) If a stock’s beta increased but its growth rate remained the same, then the new equilibrium price of the
stock will be higher (assuming dividends continue to grow at the constant growth rate).

(B) Market efficiency says that the actual realized returns on all stocks will be equal to the expected rates |,
of return. ' :
(C) An implication of the semistrong form of the efficient markets hypothesis is that you cannot-
consistently benefit from trading on-information reported in The Wall Street Journal.

(D) Statements a and b are correct.

(E) All of the statements above are correct.

38. Which of the following statements is most correct?

(A) The cost of retained earnings is the rate of return stockholders require on a firm’s common stock. .

(B) The component cost of preferred stock is eﬁpressed as kp(1 - T), because preferred stock dividends are
treated as fixed charges, similar to the treatment of debt interest.

(C) The bond-yield-plus-risk-premium approach to estimating a firm’s cost of common equity involves
adding a subjectively determined risk premium to the market risk-free bond rate.

(D) The higher the firm’s flotation cost for new common stock, the more likely the firm is to use preferred
stock, which has no flotation cost.

(E) None of the statements above is correct.
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39. Adams Audio is considering whether to make an investment in a new type of technology. Which of
the following factors should the company consider when it decides whether to undertake the investment?
(A) The company has already spent $3 million researching the technology.

(B) The new technology will affect the cash flows produced by its other operations.

(C) If the investment is not made, then the company will be able to sell one of its laberatories for $2
million. ,

(D) Statements b and ¢ should be considered.

(E) All of the statements above should be considered.

40, Real Time Systems Inc. is considering the development of one of two mutually exclusive new

computer models. Each will require a net investment of $5,000. The cash flows for each project are

shown below:
Year Model A Model B
1 $2,000 $3,000
2 2,500 2,600
3 2,250 2,900

Model B, which will use a new type of laser disk drive, is considered a high-risk project, while Model A is
an average-risk project. Real Time adds 2 percentage points to arrive at a risk-adjusted cost of capital
when evaluating high-risk projects. The cost of capital used for average-risk projects is 12 percent.
Which of the following statements regarding the NPVs for Models A and B is most correct?

(A)NPV,=§ 380; NPVp=5§1815

(BYNPV,=$ 197, NPVg=3$1,590

(C)NPV4=$ 380; NPVg=$1,590

(D) NPV, = §5,380; NPVp = $6,590

(E)NPVo=§ 197, NPVp=3§1,815
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